
   

ALUMINIUM SHELVE AND TABLE 

ASSEMBLY INSTRUCTION 

 —- 320239     Aluminum Shelve   1476x325 mm 
 —- 320240   Aluminum Table     1476x525 mm 



2  

  320239  Aluminium Shelve 

906 

907 

906 

907 

912 



3  

  320240  Aluminium Table 

909 

913 

915 

913 

915 

912 



4  

320240   Aluminium Table 

Part Name Part No. Length Qty 

Slat 912 1476 5 

Staging Arm 913 525 3 

Large Diagonal Support 915 683 3 

Small Bracket 909 25 3 

M6x10 Bolt   21 

M6 Nut   27 

M6x10 Crop - head Bolt   6 
 

320239    Aluminium Shelve 

Part Name Part No. Length Qty 

Slat 912 1476 3 

Slat Shelving Horizontal  906 325 3 

Small Diagonal Support 907 395 3 

M6x10 Bolt   12 

M6 Nut   18 

M6x10 Crop - head Bolt   6 

Slat End Cap   6 


